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𝐷𝑃𝑃𝐻 𝑖𝑛ℎ𝑖𝑏𝑖𝑡𝑖𝑜𝑛 (%)  =
𝐴0 − 𝐴1

𝐴0
× 100

[A] = [A]0 − kt

ln[A] = ln[A]0 − kt

1

[A]
=

1

[A]0
+ kt

ln k = ln k0 −
Ea

RT



 



 

λ

0 5 10 15 20

0

20

40

60

80

100

I 
(%

)

C (mg/mL)

 10 min

 30 min

 60 min

(a)

0 5 10 15 20

0

20

40

60

80

100

(b)

I 
(%

)

C (mg/mL)

 10 min

 30 min

 60 min



 

0 5 10 15 20

0

20

40

60

80

100

(c)

I 
(%

)

C (mg/mL)

 10 min

 30 min

 60 min

0 5 10 15 20

0

20

40

60

80

100

(d)

I 
(%

)

C (mg/mL)

 10 min

 30 min

 60 min

0 5 10 15 20

0

20

40

60

80

100

(e)

I 
(%

)

C (mg/mL)

 10 min

 30 min

 60 min



 



 



 



 



 



 


